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QUESTION BANK 
GEOGRAPHY 

 

UNIT-II  
 

dFku&dkj.k (Assertion-Reason) (01 Mark) 
 

Answer Options (उƣर ͪवकãप( (for all questions) 
(A) Both A and R are true, and R is the correct explanation of A.  

      A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया है। 
(B) Both A and R are true, but R is not the correct explanation of A. 

       A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं है। 
(C) A is true, but R is false. 

      A सहȣ है, लेͩ कन R गलत है। 
(D) A is false, but R is true. 

               A गलत है, लेͩ कन R सहȣ है।  

QUESTIONS- 
 

1. Assertion (A): Countries with higher population densities often face resource scarcity. 
Reason (R): Population growth always leads to a decline in food production. 

कथन (A): उÍच जनसंÉया घन×व वाले देशɉ को अÈसर संसाधनɉ कȧ कमी का सामना करना 

पड़ता है। 

कारण (R): जनसंÉया वɮृͬध हमेशा खाɮय उ×पादन मɅ ͬगरावट लाती है। 
 

2. Assertion (A): Human development is measured using indicators like education, 
income, and health. 
Reason (R): Only per capita income determines the level of human development. 

 कथन (A): मानव ͪवकास को ͧश¢ा, आय और èवाèØय जैसे संकेतकɉ से मापा जाता है। 

कारण (R): केवल ĤǓत åयिÈत आय हȣ मानव ͪवकास के èतर को Ǔनधा[ǐरत करती है। 
 

3. Assertion (A): In developed countries, birth rates are generally lower. 
Reason (R): Better healthcare and family planning reduce fertility rates in developed nations. 

 कथन (A): ͪवकͧसत देशɉ मɅ जÛम दर आमतौर पर कम होती है। 

कारण (R): बेहतर èवाèØय देखभाल और पǐरवार Ǔनयोजन ͪवकͧसत देशɉ मɅ Ĥजनन दर को 

कम कर देते हɇ। 
 

4. Assertion (A): The dependency ratio is high in countries with a young population. 
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Reason (R): A higher proportion of children in a population increases economic productivity. 

 कथन (A): युवा आबादȣ वाले देशɉ मɅ आͬĮत अनुपात अͬधक होता है। 

कारण (R): ͩकसी जनसंÉया मɅ बÍचɉ कȧ अͬधक संÉया आͬथ[क उ×पादकता को बढ़ाती है। 
 

5. Assertion (A): Migration significantly affects population distribution in a region. 
Reason (R): Migration only occurs from rural to urban areas in search of jobs. 

 कथन (A): Ĥवास ͩकसी ¢ेğ मɅ जनसंÉया ͪवतरण को मह×वपूण[ Ǿप से Ĥभाͪवत करता है। 

कारण (R): Ĥवास केवल रोजगार कȧ तलाश मɅ Ēामीण से शहरȣ ¢ेğɉ कȧ ओर होता है। 
 

6. Assertion (A): High infant mortality rates indicate poor healthcare facilities in a 
region. 
Reason (R): Infant mortality rate is influenced by factors such as nutrition, sanitation, and 
maternal health. 

कथन (A): उÍच ͧशशु म×ृयु दर ͩकसी ¢ेğ मɅ खराब èवाèØय सेवाओं को दशा[ती है। 

कारण (R): ͧशशु म×ृयु दर पोषण, èवÍछता और मात ृèवाèØय जैसे कारकɉ से Ĥभाͪवत होती 

है। 
 

7. Assertion (A): Population growth rate has declined in many countries. 
Reason (R): Urbanization and economic development often lead to lower birth rates. 

 कथन (A): कई देशɉ मɅ जनसंÉया वɮृͬध दर मɅ ͬगरावट आई है। 

कारण (R): शहरȣकरण और आͬथ[क ͪवकास अÈसर जÛम दर को कम कर देते हɇ। 
 

8. Assertion (A): Countries with high life expectancy generally have better living 
conditions. 
Reason (R): Higher life expectancy indicates improved medical facilities, nutrition, and 
hygiene. 

 कथन (A): उÍच जीवन Ĥ×याशा वाले देशɉ मɅ आमतौर पर बेहतर जीवन िèथǓतयाँ होती हɇ। 

कारण (R): उÍच जीवन Ĥ×याशा बेहतर ͬचͩक×सा सुͪवधाओं, पोषण और èवÍछता को दशा[ती 

है। 
 

9. Assertion (A): The population of the world is unevenly distributed. 
Reason (R): Geographic and climatic factors influence where people live. 

 कथन (A): ͪवæव कȧ जनसÉंया असमान Ǿप से ͪवतǐरत है। 

कारण (R): भौगोͧलक और जलवायु कारक यह Ǔनधा[ǐरत करते हɇ ͩक लोग कहाँ Ǔनवास करɅगे। 
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10. Assertion (A): The human development index (HDI) helps compare development 
levels among countries. 
Reason (R): HDI is based only on economic growth and military strength. 

 कथन (A): मानव ͪवकास सूचकांक (HDI) देशɉ के ͪवकास èतरɉ कȧ तुलना करने मɅ मदद 

करता है। 

कारण (R): HDI केवल आͬथ[क वɮृͬध और सÛैय शिÈत पर आधाǐरत होता है। 

 

. 

cgqfodYih; iz”u (Multiple-choice Questions) (01 Mark) 

1.  
Which of the following regions is characterized by a high population density due to intensive 
agriculture? 

Ǔनàनͧलͨखत मɅ से कौन-सा ¢ेğ तीĭ कृͪष के कारण उÍच जनसंÉया घन×व से युÈत है? 

A. Amazon Basin / अमेज़न बेͧसन 

B. Ganges Plain / गंगा का मदैान 

C. Sahara Desert / सहारा मǽèथल 

D. Siberian Tundra / साइबेǐरयाई टंुĜा 
 
2.  

What is the primary reason for the sparse population in polar regions? 

Ģवुीय ¢ेğɉ मɅ जनसंÉया ͪवरल होने का मुÉय कारण Èया है? 

A. Lack of mineral resources / खǓनज संसाधनɉ कȧ कमी 
B. Extreme cold climate / अ×यͬधक ठंडा जलवायु 
C. Frequent natural disasters / बार-बार ĤाकृǓतक आपदाएँ 
D. Political instability / राजनीǓतक अिèथरता 

 
3.  

Which demographic transition stage is characterized by high birth rates and declining death 
rates, leading to rapid population growth? 

कौन-सा जनसांिÉयकȧय संĐमण चरण उÍच जÛम दर और घटती म×ृयु कȧ ͪवशषेता रखता है, 

िजसस ेजनसंÉया तेजी से बढ़ती है? 

A. Stage I / चरण I 

B. Stage II / चरण II 
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C. Stage III / चरण III 

D. Stage IV / चरण IV 

4.  
Which of the following factors is least likely to influence human development in a region? 

Ǔनàनͧलͨखत मɅ से कौन-सा कारक ͩकसी ¢ेğ मɅ मानव ͪवकास को Ĥभाͪवत करने कȧ सबसे 
कम संभावना रखता है? 

A. Educational attainment / ͧश¢ा èतर 

B. Healthcare facilities / èवाèØय सुͪवधाएँ 
C. Climatic conditions / जलवायु पǐरिèथǓतया ँ
D. Political governance / राजनीǓतक शासन 

5.  
Which country has implemented a successful population control policy through the promotion 
of small family norms? 

ͩकस देश ने छोटे पǐरवार के आदशɟ को बढ़ावा देकर सफल जनसंÉया Ǔनयंğण नीǓत लागू कȧ 
है? 

A. India / भारत 

B. China / चीन 

C. Nigeria / नाइजीǐरया 
D. Brazil / Ħाज़ील 

 
6.  

In which continent is the population growth rate currently the highest? 

ͩकस महाɮवीप मɅ वत[मान मɅ जनसंÉया वɮृͬध दर सबसे अͬधक है? 

A. Europe / यूरोप 

B. Asia / एͧशया 
C. Africa / अĥȧका 
D. South America / दͯ¢ण अमेǐरका 
 

7.  
Which of the following is a consequence of negative population growth? 

नकारा×मक जनसंÉया वɮृͬध का कौन-सा पǐरणाम हो सकता है? 

A. Increased labor force / Įͧमक शिÈत मɅ वɮृͬध 

B. Aging population / वɮृध होती जनसंÉया 
C. Higher birth rates / उÍच जÛम दर 

D. Urban overcrowding / शहरȣ अͬधक जनसंÉया 
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8.  
Which index is commonly used to measure human development by assessing life expectancy, 
education, and per capita income? 

कौन-सा सूचकांक जीवन Ĥ×याशा, ͧश¢ा और ĤǓत åयिÈत आय का मूãयांकन करके मानव 
ͪवकास को मापने के ͧलए आमतौर पर उपयोग ͩकया जाता है? 

A. Gross Domestic Product (GDP) / सकल घरेलू उ×पाद (GDP) 

B. Human Development Index (HDI) / मानव ͪवकास सूचकाकं (HDI) 

C. Gini Coefficient / िजनी गुणांक 

D. Physical Quality of Life Index (PQLI) / भौǓतक जीवन गुणवƣा सूचकांक (PQLI) 

 
9.  

Which of the following best explains the term "demographic dividend"? 

"जनसांिÉयकȧय लाभांश" शÞद को सबसे अÍछȤ तरह कौन समझाता है? 

A. A rise in the birth rate / जÛम दर मɅ वɮृͬध 

B. A decrease in the death rate / म×ृयु दर मɅ कमी 
C. Economic growth due to a larger working-age population / काय[शील आयु वग[ कȧ बड़ी 
जनसंÉया के कारण आͬथ[क वɮृͬध 

D. Increased government expenditure on healthcare / èवाèØय देखभाल पर सरकारȣ åयय मɅ 
वɮृͬध 

 
10.  

Which of the following is not a factor affecting population distribution? 

Ǔनàनͧलͨखत मɅ से कौन-सा जनसंÉया ͪवतरण को Ĥभाͪवत करने वाला कारक नहȣं है? 

A. Climate / जलवायु 
B. Soil fertility / मदृा उव[रता 
C. Ocean currents / महासागरȣय धाराएँ 
D. Political stability / राजनीǓतक िèथरता 
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vfr y?kq mRrjh; iz”u (Very short answer questions (01 Mark) 
 

 

1.  ͪवæव जनसंÉया ͪवतरण मɅ ͪवषमता के Ĥमुख कारण Èया हɇ? 

Why is there an uneven distribution of the world population? 

2.  कुछ ¢ेğɉ मɅ जनसंÉया घन×व अͬधक होने के बावजदू ससंाधनɉ कȧ उपलÞधता कम Èयɉ होती 

है? 

Why do some regions have a high population density despite low resource availability? 

3.  अãपͪवकͧसत देशɉ मɅ उÍच जÛम दर का Ĥमुख कारण Èया है? 

What is the primary reason for high birth rates in less developed countries? 

4.  कौन-सा ¢ेğ ͪवæव मɅ सवा[ͬधक जनसंÉया घन×व वाला है और इसका Ĥमुख कारण Èया है? 

Which region has the highest population density in the world, and what is the key reason 
behind it? 

5.  Èया जलवायु पǐरिèथǓतयाँ जनसंÉया ͪवतरण को Ĥभाͪवत करती हɇ? उदाहरण सǑहत èपçट 

करɅ। 
Do climatic conditions affect population distribution? Explain with an example. 

6.  ͩकन भौगोͧलक कारकɉ के कारण साइबेǐरया और अमज़ेन बेͧसन मɅ जनसंÉया कम पाई जाती 

है? 

Which geographical factors lead to low population density in Siberia and the Amazon Basin? 

7.  जनसंÉया वɮृͬध के कौन-कौन से सामािजक और आͬथ[क Ĥभाव हो सकते हɇ? 

What are the possible social and economic impacts of population growth? 

8.  ͪवकासशील और ͪवकͧसत देशɉ मɅ जनसंÉया वɮृͬध दर मɅ अतंर Èयɉ होता है? 

Why is there a difference in population growth rates between developing and developed 
countries? 

9.  जनसंÉया संĐमण ͧसɮधांत (Demographic Transition Theory) के अनुसार कौन सा चरण 

भारत के वत[मान जनसंÉया èवǾप का ĤǓतǓनͬध×व करता है? 

Which stage of the Demographic Transition Theory represents India's current population 
pattern? 

10.  ͩकस Ĥकार Ĥवासन (Migration) जनसंÉया ͪवतरण को Ĥभाͪवत करता है? 

How does migration affect population distribution? 

11.  मानव ͪवकास सूचकाकं (HDI) के तीन Ĥमुख घटक कौन-कौन से हɇ? 

What are the three major components of the Human Development Index (HDI)? 
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12.  ͩकन कारकɉ के कारण दो देशɉ का मानव ͪवकास सूचकांक समान होने के बावजूद उनकȧ 

सामािजक िèथǓतयाँ ͧभÛन हो सकती हɇ? 

Why can two countries have the same HDI but different social conditions? 

13.  मानव ͪवकास सूचकाकं कȧ गणना मɅ ĤǓत åयिÈत आय को समायोिजत करने के ͧलए ͩकस 

ͪवͬध का उपयोग ͩकया जाता है? 

Which method is used to adjust per capita income in HDI calculations? 

14.  "उÍच आͬथ[क ͪवकास हमेशा उÍच मानव ͪवकास को सुǓनिæचत नहȣं करता।" इस कथन कȧ 

पुिçट ͩकसी उदाहरण ɮवारा करɅ। 
"High economic growth does not always ensure high human development." Justify this 
statement with an example. 

15.  मानव ͪवकास के चार Ĥमुख èतंभ कौन-कौन से हɇ? 

What are the four main pillars of human development? 

16.  ͪवæव मɅ सबसे अͬधक मानव ͪवकास सूचकाकं वाला देश कौन-सा है, और इसके Ĥमुख कारण 

Èया हɇ? 

Which country has the highest HDI, and what are the key reasons behind it? 

17.  कम मानव ͪवकास वाले देशɉ मɅ सा¢रता दर और जीवन Ĥ×याशा पर Èया Ĥभाव पड़ता है? 

How do literacy rates and life expectancy get affected in low human development countries? 

18.  लɇͬ गक असमानता सूचकाकं (GII) Èया है और यह मानव ͪवकास से कैसे संबंͬधत है? 

What is the Gender Inequality Index (GII), and how is it related to human development? 

19.  पया[वरणीय िèथरता का मानव ͪवकास से Èया संबंध है? 

What is the relationship between environmental sustainability and human development? 

20.  भारत के मानव ͪवकास सूचकाकं मɅ सुधार के ͧलए सरकार कौन-कौन से Ĥयास कर रहȣ है? 

What efforts is the Indian government making to improve the Human Development Index? 
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y?kq mRRkjh; iz”u  (Short answer questions (02 Marks) 

 

1. Why do some regions with abundant natural resources have a low population density? Explain 
with examples. 

  कुछ ¢ेğɉ मɅ Ĥचुर ĤाकृǓतक संसाधनɉ के बावजूद जनसंÉया घन×व कम Èयɉ होता है? 

उदाहरण सǑहत èपçट करɅ। 
2.  How does the physical environment affect the distribution of population across the world? 

Explain with examples. 

  भौǓतक पया[वरण दǓुनया भर मɅ जनसंÉया ͪवतरण को कैसे Ĥभाͪवत करता है? उदाहरण 

सǑहत समझाए।ँ 
3.  Despite technological advancements, why do some mountainous regions still have low 

population density? 

  तकनीकȧ ĤगǓत के बावजूद कुछ पव[तीय ¢ेğɉ मɅ जनसंÉया घन×व अभी भी कम Èयɉ है? 

4.  How has industrialization influenced the population distribution in developing countries? 

  औɮयोगीकरण ने ͪवकासशील देशɉ मɅ जनसंÉया ͪवतरण को कैस ेĤभाͪवत ͩकया है? 

5.  Compare the population density of East Asia and North America. What factors contribute to 
the difference? 

  पूवȸ एͧशया और उƣरȣ अमेǐरका के जनसंÉया घन×व कȧ तुलना करɅ। इस अतंर के कारणɉ 

को èपçट करɅ। 
6.  How does climate play a crucial role in determining the population distribution of a region? 

Explain with examples. 

  ͩकसी ¢ेğ कȧ जनसंÉया ͪवतरण को Ǔनधा[ǐरत करने मɅ जलवायु कȧ Èया भूͧमका है? उदाहरण 

सǑहत समझाए।ँ 
7.  How has urbanization led to uneven population distribution across the world? 

  शहरȣकरण ने ͪवæवभर मɅ असमान जनसंÉया ͪवतरण को कैस ेजÛम Ǒदया है? 

8.  How do government policies impact population growth in different countries? Give examples. 

  ͪवͧभÛन देशɉ मɅ जनसंÉया वɮृͬध पर सरकारȣ नीǓतयाँ कैसे Ĥभाव डालती हɇ? उदाहरण सǑहत 

समझाएँ। 
9.  How can the concept of carrying capacity help in understanding population distribution? 

  वहन ¢मता (Carrying Capacity) कȧ अवधारणा जनसंÉया ͪवतरण को समझने मɅ कैसे 

सहायक हो सकती है? 

10.  Why do some regions have negative population growth despite high birth rates? 

  कुछ ¢ेğɉ मɅ उÍच जÛम दर के बावजूद नकारा×मक जनसंÉया वɮृͬध Èयɉ होती है? 
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11. Why is per capita income not a sufficient indicator of human development? 

  ĤǓत åयिÈत आय मानव ͪवकास का पया[Üत संकेतक Èयɉ नहȣं है? 

12.  How does gender inequality impact human development in developing nations? 

  ͪवकासशील देशɉ मɅ लɇͬ गक असमानता मानव ͪवकास को कैसे Ĥभाͪवत करती है? 

13.  Why do some high-income countries have a lower Human Development Index (HDI) than 
expected? 

  कुछ उÍच आय वाले देशɉ का मानव ͪवकास सूचकांक (HDI) अपे¢ा से कम Èयɉ होता है? 

14.  How does education contribute to the overall human development of a country? 

  ͧश¢ा ͩकसी देश के संपूण[ मानव ͪवकास मɅ कैसे योगदान देती है? 

15.  How does the availability of healthcare facilities impact human development? Explain with 
examples. 

  èवाèØय सुͪवधाओं कȧ उपलÞधता मानव ͪवकास को कैसे Ĥभाͪवत करती है? उदाहरण सǑहत 

समझाएँ। 
16.  Why do countries with similar GDPs have different levels of human development? 

  समान जीडीपी वाले देशɉ मɅ मानव ͪवकास के èतर अलग-अलग Èयɉ होते हɇ? 

17.  Explain how sustainable development is linked with human development. 

  सतत ͪवकास मानव ͪवकास से कैसे जुड़ा हुआ है? 

18.  How does political stability contribute to higher human development? 

  राजनीǓतक िèथरता उÍच मानव ͪवकास मɅ कैसे योगदान देती है? 

19.  Why do some resource-rich countries still have a low HDI? 

  कुछ संसाधन संपÛन देशɉ का मानव ͪवकास सूचकाकं (HDI) कम Èयɉ होता है? 

20.  How does migration impact human development in both source and destination countries? 

  Ĥवासन İोत और गंतåय दोनɉ देशɉ मɅ मानव ͪवकास को कैसे Ĥभाͪवत करता है? 

y?kq mRRkjh; iz”u  (Short answer questions (03 Marks) 

1.  ͪवæव जनसंÉया ͪवतरण मɅ ͪवषमता Èयɉ पाई जाती है? भौगोͧलक और आͬथ[क कारणɉ का 

ͪवæलेषण कȧिजए। 
 Why is there an uneven distribution of world population? Analyze the geographical and 
economic factors. 

2.  कुछ ¢ेğɉ मɅ जनसंÉया घन×व अͬधक Èयɉ होता है, जबͩक कुछ ¢ेğɉ मɅ बहुत कम? ͩकसी दो 

महाɮवीपɉ के उदाहरण देकर समझाइए। 

 Why is population density high in some regions and very low in others? Explain with 
examples from any two continents. 
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3.  बढ़ती जनसंÉया वɮृͬध दर ͪवकासशील देशɉ के ͧलए ͩकस Ĥकार कȧ चुनौǓतयाँ उ×पÛन कर 

सकती है? तीन ǒबदंओुं मɅ èपçट कȧिजए। 
 How can a high population growth rate create challenges for developing countries? Explain in 
three points. 

4.  ͪवæव मɅ जनसंÉया वɮृͬध कȧ Ĥवृͪ ƣयɉ का ऐǓतहाͧसक ͪवæलेषण कȧिजए और यह कैसे 

सामािजक-आͬथ[क ͪवकास को Ĥभाͪवत करता है? 

 Analyze the historical trends of world population growth and explain how it impacts socio-
economic development. 

5.  जनसंÉया वɮृͬध को Ǔनयंǒğत करने के ͧलए ͪवͧभÛन देशɉ ɮवारा अपनाई गई दो नीǓतयɉ का 

तुलना×मक अÚययन कȧिजए। 
 Compare any two population control policies adopted by different countries. 

6.  भारत और चीन कȧ जनसंÉया वɮृͬध नीǓतयɉ कȧ तुलना कȧिजए और इनके Ĥभावɉ का 

मूãयांकन कȧिजए। 
 Compare the population growth policies of India and China and evaluate their impact. 

7.  जनसंÉया घन×व और ससंाधनɉ कȧ उपलÞधता मɅ Èया संबंध है? ͩकसी एक देश का उदाहरण 

देकर åयाÉया कȧिजए। 
 What is the relationship between population density and resource availability? Explain with an 
example of any one country. 

8.  यǑद ͩकसी देश कȧ जÛम दर अͬधक हो लेͩकन म×ृयु दर भी अͬधक हो, तो जनसÉंया वɮृͬध 

पर इसका Èया Ĥभाव पड़गेा? 

 If a country has a high birth rate but also a high death rate, what will be its impact on 
population growth? 

9.  शहरȣकरण का जनसंÉया घन×व पर Èया Ĥभाव पड़ता है? भारत के संदभ[ मɅ चचा[ कȧिजए। 
 How does urbanization affect population density? Discuss with reference to India. 

10.  जलवायु पǐरवत[न जनसंÉया ͪवतरण को ͩकस Ĥकार Ĥभाͪवत कर सकता है? ͪवæलेषण 

कȧिजए। 
 How can climate change affect population distribution? Analyze.’ 
 

11.  मानव ͪवकास और आͬथ[क ͪवकास के बीच Èया संबंध है? दोनɉ कȧ तुलना करते हुए 

समझाइए। 
 What is the relationship between human development and economic development? Explain 
with a comparison. 
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12.  मानव ͪवकास सूचकाकं (HDI) ͩकन मुÉय संकेतकɉ पर आधाǐरत होता है? भारत का HDI 

अÛय देशɉ कȧ तुलना मɅ कैसा है? 

 What are the key indicators of the Human Development Index (HDI)? How does India’s HDI 
compare with other countries? 

13.  ͧश¢ा और èवाèØय सेवाएँ ͩकसी देश के मानव ͪवकास को कैसे Ĥभाͪवत करती हɇ? उदाहरण 

सǑहत åयाÉया कȧिजए। 
 How do education and healthcare services affect human development in a country? Explain 
with examples. 

14.  मानव ͪवकास को मापने के ͧलए केवल GDP पया[Üत Èयɉ नहȣं है? उͬचत तक[  दȣिजए। 
 Why is GDP alone not sufficient to measure human development? Give valid arguments. 

15.  लɇͬ गक असमानता ͩकसी देश के मानव ͪवकास पर Èया Ĥभाव डाल सकती है? भारत के 

पǐरĤेêय मɅ चचा[ कȧिजए। 
 How does gender inequality impact human development in a country? Discuss with reference 
to India. 

16.  कम आय वाले और उÍच आय वाले देशɉ के मानव ͪवकास संकेतकɉ कȧ तुलना कȧिजए और 

कारणɉ का ͪवæलेषण कȧिजए। 
 Compare the human development indicators of low-income and high-income countries and 
analyze the reasons. 

17.  Èया मानव ͪवकास और सतत ͪवकास (Sustainable Development) एक दसूरे के पूरक हɇ? 

उदाहरण सǑहत समझाइए। 
 Are human development and sustainable development complementary to each other? Explain 
with examples. 

18.  सरकार कȧ कãयाणकारȣ नीǓतयाँ मानव ͪवकास को कैसे Ĥभाͪवत करती हɇ? भारत मɅ ͩकसी 

एक नीǓत का उदाहरण दȣिजए। 
 How do government welfare policies impact human development? Give an example from 
India. 

19.  भारत मɅ असमान मानव ͪवकास दर (Unequal Human Development) के कारणɉ का मूãयांकन 

कȧिजए और सुधार के उपाय सुझाइए। 
 Evaluate the reasons for unequal human development in India and suggest measures for 
improvement. 

20.  मानव ͪवकास ǐरपोट[ (Human Development Report) मɅ भारत कȧ िèथǓत मɅ सुधार लाने के 

ͧलए तीन आवæयक रणनीǓतयाँ सुझाइए। 
 Suggest three key strategies to improve India's ranking in the Human Development Report. 
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nh?kZ mRRkjh; iz”u  (Long answer questions (05 Marks) 

1. एक बहुराçĚȣय कंपनी ͩकसी नए काया[लय कȧ èथापना के ͧलए èथान का चयन कर रहȣ है। 

जनसंÉया ͪवतरण और घन×व के ͩकन कारकɉ को Úयान मɅ रखते हुए व ेसहȣ èथान का चयन 

कर सकते हɇ? उदाहरण सǑहत समझाइए। 
A multinational company is selecting a location for a new office. What factors of population 
distribution and density should they consider for choosing the right location? Explain with 
examples. 

2. यǑद भारत और जापान के जनसंÉया घन×व कȧ तुलना कȧ जाए, तो दोनɉ देशɉ मɅ भौगोͧलक 

और आͬथ[क कारणɉ से यह कैसे ͧभÛन होता है? मानͬचğ के संदभ[ मɅ समझाइए। 
If we compare the population density of India and Japan, how does it differ due to geographical 
and economic factors? Explain with reference to maps. 

3. आप एक शहरȣ योजनाकार हɇ और एक अ×यͬधक जनसंÉया घन×व वाले शहर के ͧलए योजना 

बना रहे हɇ। शहरȣ भीड़भाड़ और बुǓनयादȣ सुͪवधाओं कȧ कमी को दरू करने के ͧलए आप ͩकन 

नीǓतयɉ को लागू करɅगे? 

You are an urban planner designing a highly populated city. What policies would you 
implement to tackle urban congestion and infrastructure shortages? 

4. अĥȧका और यूरोप मɅ जनसÉंया वɮृͬध दर मɅ अंतर के Èया कारण हɇ? इन कारकɉ के 

दȣघ[काͧलक Ĥभावɉ का ͪवæलेषण करɅ। 
What are the reasons for the difference in population growth rates between Africa and Europe? 
Analyze the long-term effects of these factors. 

5. भारत के जनसंÉया घन×व और संयुÈत राÏय अमǐेरका के जनसंÉया घन×व कȧ तुलना करɅ। 

दोनɉ देशɉ मɅ जनसंÉया ͪवतरण के ͧभÛन पैटन[ को Ĥभाͪवत करने वाले Ĥमुख कारणɉ कȧ 

पहचान करɅ। 
Compare the population density of India and the United States. Identify key reasons affecting 
different patterns of population distribution in both countries. 

6. यǑद एक देश मɅ उÍच जनसÉंया वɮृͬध दर हो लेͩकन सीͧमत ĤाकृǓतक संसाधन हɉ, तो इसका 

अथ[åयवèथा और समाज पर Èया Ĥभाव पड़गेा? उदाहरण सǑहत ͪवæलेषण करɅ। 
If a country has a high population growth rate but limited natural resources, what will be its 
impact on the economy and society? Analyze with examples. 

7. Èया आप सहमत हɇ ͩक बढ़ती जनसंÉया केवल एक नकारा×मक कारक नहȣं है, बिãक यह 

आͬथ[क ͪवकास मɅ सहायक भी हो सकती है? अपने तकɟ को उͬचत उदाहरणɉ के साथ Ĥèतुत 
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करɅ। 
Do you agree that a growing population is not just a negative factor but can also contribute to 
economic development? Justify your arguments with examples. 

8. सरकारɉ को उÍच जनसंÉया वɮृͬध दर से Ǔनपटने के ͧलए कौन-कौन सी रणनीǓतयाँ अपनानी 

चाǑहए? भारत और चीन कȧ नीǓतयɉ का तुलना×मक मूãयांकन करɅ। 
What strategies should governments adopt to manage high population growth rates? Evaluate 
the policies of India and China comparatively. 

9. ऐसी एक नीǓतगत Ǿपरेखा तैयार करɅ जो Ēामीण ¢ेğɉ मɅ जनसंÉया वɮृͬध को Ǔनयंǒğत करने 

मɅ सहायक हो, और इसे åयवहार मɅ कैसे लाया जा सकता है? 

Design a policy framework to control population growth in rural areas and explain how it can 
be implemented effectively. 

10. एक काãपǓनक देश के ͧलए एक ‘जनसंÉया Ĥबधंन मॉडल’ ͪवकͧसत करɅ िजसमɅ सतत ͪवकास 

और जनसंÉया Ǔनयंğण को Úयान मɅ रखा गया हो। 
Develop a ‘Population Management Model’ for a hypothetical country that balances 
sustainable development and population control. 

11. एक देश कȧ मानव ͪवकास ǐरपोट[ मɅ Ǔनàन एचडीआई (HDI) èकोर आया है। सरकार इस 

िèथǓत को सुधारने के ͧलए ͩकन Ĥमुख ¢ेğɉ मɅ सुधार कर सकती है? 

A country's Human Development Report shows a low HDI score. In which key areas should 
the government focus on improving the situation? 

12. मानव ͪवकास सूचकाकं (HDI) को èवाèØय, ͧश¢ा और जीवन èतर के ͩकन मापदंडɉ के आधार 

पर मापा जाता है? इसे बेहतर बनाने के ͧलए देशɉ को कौन से सुधार करने चाǑहए? 

On what parameters of health, education, and standard of living is the Human Development 
Index (HDI) measured? What reforms should countries undertake to improve it? 

13. भारत और नॉवȶ के मानव ͪवकास सूचकांक (HDI) मɅ अतंर का ͪवæलेषण करɅ। सामािजक और 

आͬथ[क कारणɉ को ͪवèतार से समझाइए। 
Analyze the difference in Human Development Index (HDI) between India and Norway. 
Explain the social and economic reasons in detail. 

14. Èया केवल आͬथ[क वɮृͬध (Economic Growth) ͩकसी देश मɅ उÍच मानव ͪवकास सुǓनिæचत 

कर सकती है? अपने उƣर को उͬचत तकɟ और उदाहरणɉ के साथ èपçट करɅ। 
Can economic growth alone ensure high human development in a country? Explain your 
answer with logical arguments and examples. 

15. एक समाज मɅ ͧलगं समानता (Gender Equality) मानव ͪवकास को कैसे Ĥभाͪवत करती है? 

ͪवͧभÛन देशɉ के उदाहरणɉ के साथ ͪवæलेषण करɅ। 
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How does gender equality impact human development in a society? Analyze with examples 
from different countries. 

16. संयुÈत राçĚ ɮवारा मानव ͪवकास को मापने के ͧलए उपयोग ͩकए जाने वाले तरȣकɉ कȧ 

आलोचना×मक समी¢ा करɅ। Èया वत[मान एचडीआई (HDI) मॉडल मɅ सुधार कȧ आवæयकता 

है? 

Critically review the methods used by the United Nations to measure human development. 
Does the current HDI model need improvement? 

17. Èया आप मानते हɇ ͩक भारत मɅ ͧश¢ा और èवाèØय पर अͬधक Ǔनवेश मानव ͪवकास 

सूचकांक को सकारा×मक Ǿप से Ĥभाͪवत करेगा? अपने तकɟ को èपçट करɅ। 
Do you believe that increased investment in education and health in India will positively 
impact the Human Development Index? Justify your reasoning. 

18. मानव ͪवकास को बढ़ाने के ͧलए एक समावेशी नीǓत Ĥèताͪवत करɅ जो Ēामीण और शहरȣ 

¢ेğɉ दोनɉ मɅ लागू कȧ जा सके। 
Propose an inclusive policy to enhance human development that can be implemented in both 
rural and urban areas. 

19. आपको अपने राÏय के ͧलए मानव ͪवकास सूचकांक मɅ सुधार करने कȧ िजàमेदारȣ दȣ गई है। 

आप कौन-कौन सी रणनीǓतयाँ अपनाएंगे? 

You are given the responsibility to improve the Human Development Index of your state. What 
strategies would you implement? 

20. यǑद आपको एक देश के ͧलए मानव ͪवकास मॉडल बनाना हो, तो ͩकन Ĥमुख ¢ेğɉ पर Úयान 

दɅगे? अपने मॉडल कȧ मुÉय ͪवशषेताएँ बताइए। 
If you were to design a human development model for a country, which key areas would you 
focus on? Describe the main features of your model. 

 

Case Study Based Questions 

केस èटडी: जनसÉंया वɮृͬध और मानव ͪवकास 

In recent decades, the world has seen an unprecedented rise in population. Some countries, like 
India and China, have experienced rapid population growth, while others, such as Japan and 
Germany, are facing population decline. This demographic shift has significant implications for 
economic development, resource distribution, and human well-being. 

ͪपछले कुछ दशकɉ मɅ, दǓुनया न ेजनसंÉया मɅ अभूतपूव[ वɮृͬध देखी है। भारत और चीन जैसे देशɉ 

मɅ तेजी स ेजनसंÉया वɮृͬध हुई है, जबͩक जापान और जम[नी जैसे देशɉ को जनसंÉया मɅ ͬगरावट 
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का सामना करना पड़ रहा है। यह जनसांिÉयकȧय पǐरवत[न आͬथ[क ͪवकास, संसाधनɉ के ͪवतरण 

और मानव कãयाण पर मह×वपूण[ Ĥभाव डालता है। 
India, with a population density of over 400 people per square kilometer, is one of the most densely 
populated countries in the world. In contrast, countries like Canada have a population density of 
just 4 people per square kilometer. High population growth increases pressure on natural resources, 
infrastructure, and employment opportunities, affecting key human development indicators such as 
education, healthcare, and quality of life. 

भारत मɅ जनसंÉया घन×व 400 से अͬधक åयिÈत ĤǓत वग[ ͩकलोमीटर है, िजसस ेयह दǓुनया के 

सबसे घनी आबादȣ वाले देशɉ मɅ से एक है। इसके ͪवपरȣत, कनाडा जैसे देशɉ मɅ जनसंÉया घन×व 

माğ 4 åयिÈत ĤǓत वग[ ͩकलोमीटर है। उÍच जनसÉंया वɮृͬध ĤाकृǓतक संसाधनɉ, बुǓनयादȣ ढांचे 

और रोजगार के अवसरɉ पर दबाव डालती है, िजससे ͧश¢ा, èवाèØय सेवा और जीवन कȧ गुणवƣा 

जैसे मानव ͪवकास के Ĥमुख संकेतकɉ पर Ĥभाव पड़ता है। 
One of the key debates is whether high population growth is beneficial or detrimental to human 
development. While a large population can provide a strong labor force and drive economic growth, 
it can also strain resources and hinder sustainable development. Some countries have successfully 
implemented policies to balance population growth and human development, whereas others still 
struggle with overpopulation, poverty, and resource depletion. 

एक मह×वपूण[ बहस यह है ͩक Èया उÍच जनसंÉया वɮृͬध मानव ͪवकास के ͧलए लाभदायक होती 

है या हाǓनकारक। जहां बड़ी जनसंÉया एक मजबूत Įम शिÈत Ĥदान कर सकती है और आͬथ[क 

वɮृͬध को बढ़ावा दे सकती है, वहȣं यह संसाधनɉ पर दबाव डाल सकती है और सतत ͪवकास को 

बाͬधत कर सकती है। कुछ देशɉ ने जनसंÉया वɮृͬध और मानव ͪवकास के बीच संतुलन बनाने के 

ͧलए सफल नीǓतयां लागू कȧ हɇ, जबͩक अÛय अभी भी जनसंÉया वɮृͬध, गरȣबी और संसाधनɉ कȧ 

कमी से जझू रहे हɇ। 

 
Questions /  

1. भारत कȧ उÍच जनसंÉया घन×व का कौन-सा संभाͪवत Ĥभाव संसाधनɉ कȧ खपत पर पड़ सकता 

है? 

(What is a possible impact of India's high population density on resource consumption?) (1 Mark / 

अकं) 
2. भारत और कनाडा कȧ जनसंÉया घन×व कȧ तुलना करɅ और यह बताएं ͩक यह उनके आͬथ[क 

ͪवकास को कैसे Ĥभाͪवत कर सकता है। 
(Compare the population density of India and Canada and explain how it may affect their economic 

development.) (1 Mark / अकं) 
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3. Èया आप मानते हɇ ͩक उÍच जनसंÉया वɮृͬध मानव ͪवकास के ͧलए लाभदायक हो सकती है? 

अपने उƣर कȧ åयाÉया करɅ। 
(Do you believe high population growth can be beneficial for human development? Justify your 

answer.) (1 Mark / अकं) 
4. एक ऐसी नीǓत का Ĥèताव करɅ जो ͩकसी भी देश मɅ जनसंÉया वɮृͬध को संतुͧलत करके सतत 

मानव ͪवकास सुǓनिæचत कर सके। 
(Propose a policy that can help balance population growth and ensure sustainable human 

development in any country.) (2 Marks / अकं) 
 

Ekkufp= vk/kkfjr iz”u (Map-Based Questions) 
 

1. Identification of Places & Regions on the Map 
1. Identify the country with the highest population in the world on the world map. 

ͪवæव मानͬचğ पर ͪवæव के सवा[ͬधक जनसंÉया वाले देश को पहचानɅ। 
2. Mark the continent with the lowest population density. 

नÈश ेपर उस महाɮवीप को ͬचिÛहत करɅ िजसकȧ जनसंÉया घन×व सबसे कम है। 
3. Locate the country with the highest urban population in the world. 

ͪवæव मɅ सवा[ͬधक शहरȣ जनसंÉया वाले देश को मानͬचğ पर दशा[एँ। 
4. Identify any two countries that experience high rural-to-urban migration. 

मानͬचğ पर उन दो देशɉ को ͬचिÛहत करɅ जहाँ Ēामीण से शहरȣ ¢ेğɉ मɅ उÍच Ĥवासन 

होता है। 
5. Mark two major megalopolis regions of the world. 

ͪवæव के दो Ĥमुख महानगरȣय ¢ेğɉ को मानͬचğ पर ͬचिÛहत करɅ। 

 
2. Population & Settlements 

6. Locate any two countries with negative population growth. 

मानͬचğ पर दो ऐसे देशɉ को दशा[एँ जहाँ जनसंÉया वɮृͬध नकारा×मक है। 
7. Mark the top five most populous countries in the world. 

ͪवæव के पाँच सवा[ͬधक जनसंÉया वाले देशɉ को मानͬचğ पर Ǒदखाएँ। 
8. Identify the country with the lowest birth rate in the world. 

ͪवæव के सबसे कम जÛम दर वाले देश को मानͬचğ पर Ǒदखाएँ। 
9. Locate two regions where the population is concentrated near rivers. 

नÈश ेपर दो ऐसे ¢ेğ दशा[एँ जहाँ जनसंÉया नǑदयɉ के पास सघन है। 
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10. Mark two sparsely populated areas in the world. 

मानͬचğ पर दो अãप जनसÉंया घन×व वाले ¢ेğ को ͬचिÛहत करɅ। 

 
3. Migration & Demographic Change 

11. Identify two major international migration corridors on the world map. 

ͪवæव मानͬचğ पर दो Ĥमुख अतंरराçĚȣय Ĥवासन माग[ को दशा[एँ। 
12. Mark a country experiencing significant brain drain. 

ऐसे देश को ͬचिÛहत करɅ जहाँ से उÍच ͧशͯ¢त लोग बड़ी संÉया मɅ बाहर जा रहे हɇ। 
13. Locate a country with the highest number of refugees. 

सबसे अͬधक शरणाथȸ वाले देश को मानͬचğ पर दशा[एँ। 
14. Mark the major source regions of labor migration to the Gulf countries. 

गãफ देशɉ मɅ Įͧमक Ĥवासन के Ĥमुख İोत ¢ेğɉ को मानͬचğ पर Ǒदखाएँ। 
15. Identify two major destination countries for Indian migrants. 

भारतीय Ĥवाͧसयɉ के ͧलए दो Ĥमुख गंतåय देशɉ को मानͬचğ पर दशा[एँ। 

 
4. Economic & Social Geography 

16. Mark the country with the highest HDI (Human Development Index) score. 

मानव ͪवकास सूचकाकं मɅ सवȾÍच èथान वाले देश को मानͬचğ पर Ǒदखाएँ। 
17. Locate two countries with the lowest literacy rates. 

Ûयूनतम सा¢रता दर वाले दो देशɉ को मानͬचğ पर दशा[एँ। 
18. Locate two major industrial regions in the world map. 

ͪवæव के दो Ĥमुख औɮयोͬगक ¢ेğɉ को मानͬचğ पर ͬचिÛहत करɅ। 
19. Mark two major agricultural belts in the world map. 

ͪवæव के दो Ĥमुख कृͪष ¢ेğɉ को मानͬचğ पर ͬचिÛहत करɅ। 
20. Identify the top two oil-producing countries on the world map. 

ͪवæव मɅ दो शीष[ तेल उ×पादक देशɉ को मानͬचğ पर ͬचिÛहत करɅ। 
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